www.math-pilevar.ir
Yl Genly
YD) 0,90 2 Cewyob (o Cwoys (z Syl (o (2l
(1Y) 3,90 [¥v] & -V (o Y T (Ll
D, =[-\/a.v/s] (+10)
Ry =1[-.7] (+10)

| M
oY Y T

V8-
10 U pmny)
LS Fe amis e
Sinx+cosx=\
. T . T '\l":-

Vysin(x+-) =1 —  sin(x+-)=— (-1va), (+/v0)
x+§=‘rkn+% — x=Vvkm (-/0)
X+§=Tkn+n—% — x=‘rkn—|—¥ (-/0)
n=c  (+/Y°) S=v — a=c¢ (- /v0)
sy lim 2 g 2Ty,

x—s—oo T X x——omo TX
= lim —=— (-/v8)

x——om Tx ¥
g)limr_ = (-/v8)

s — i 8 _ — .
Lsaﬁ‘ e Y _XE}IPED bx"x+bx+% b ¥ = a vb +IY0)
o e b(V)"+B(V)+F =+ — Yhb=—F — b= —¥

= a=Y(—v)=—f (-/v8)

v e FE—FO) L =] = o1
R - e
fl= lim_‘f'ﬂ_‘f(ﬁ}= lim_%= lim_[x]=[""]= (+10)

r— x—1 r—s x—1\ r—s

()= £20) 1)




www.math-pilevar.ir

0y
AN ) = (" ) (r XJ(*M + ;)+ (-/8) A
'r+ ha 1' 1'
] _ e
Y (mmn) O
i a'+i)—r xlx) x
or ()=~ () s
f(x)=- ‘,; -IY0) v,
ﬂ pd f{ﬂl]_f{i] pd Ivl,:._lvi e T ] l (’/a)
Ax i—¥ & & &
==1 > x=7 (-v0)
X & ¥
V)
<l <)
3 "
<) )

(0500 +/0) 3,90 ;2
xyT ' VY
O +y' =y —y= V-7 (+/va) X

x'r
S—JC_}J' =x ||‘!—T A 1 v
S = -+ ==+ K
¥ Clx
A
¥ £ ¥ ¥
H_XT= ! - ::::' "I—XT=XT
S : :
A
=>xT=‘!ﬁ*- x*:rax:ﬁ 1Y0)
y= *-—XT= 1—§= S=— 1Y0)
v ; ¥ WY
(Y¥) — A+Ya+b=vx (+/Y0) VY

flf(x)=vx"+a - IYD)




www.math-pilevar.ir

ff(vx)=\w+a=- — a=-—\v - IYD)
AMY(-\Y)+h=Y = b = —18 (+/IY0)
ffx)=x"—vx—w=+. —-x=—v CA)
X=0¢ [—%.¥]

f-7)= ()" — (=) —18(=¥) = vV
f(-8)== (—#%) — (—15) —8(-%) ==

f(M)=-(vv) —a —vo=—to

llas porios wlaises (Fg-F0)  (+/Y0) llas pas Sl Slatis (Y5 YY) (+/Y0)
flix)=x"+rx"+7ax (+IY0)
fxX)=rx"+svx+7ra 1Y)
f(N=r+s+ra=- — a=— (/0
f(xx)=——
Y x—\ F Y .
D;=R—{3} j

il ey = lim o =1 R ennsull U N

x—too Tx—) ¥ A\ !
\ i N

ol cobre YX V=0 — X =- (003 (+10) w_;{ -
. v
J :
f (xj={?x_1]*::
=5
(10) S o
X -0 1 '
Y 0
y' + +
y" + -
y Al A 400 -0 A —
Y Y

0 y08 (+10) Jgo




